Name Area

Mixed Practice

[ ] /AN L\

A=lew A=lew = 1 beh A=—(b1+b A=nr

Use the correct formula to find the area of each figure below. Work with a calculator or on
scratch paper. Round to the nearest tenth. Write your answers in square units.

ﬂ\ 45m B. 5cm C.

9.2m

14 yd.
12cm i
A=_ 1.0 A= A=
A= T A= A=
D E. F.
21 mm 4,25 ft.
/
A= A= A=
— A= A=
G H. I
10 in. /52-5“"“' /
‘ 7.5 mi
A= A= A=
A= A= A:
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* Name

Area

Total Area

Find the total area of each figure. Round your answers to the nearest tenth. Write your

answers in square units.
A.

56.1 cm

B. 5in.

9cm
4cm
10in.
3in.
A = A —
C. D.
6\ .
'?'7) R & 6‘(\__9
151t
5ft.
4.2 mm
—] A —
E. F.
& 3mm
Ry
&
G
§ ©
i
6.5cm ‘
55¢cm
6 o
8 mm
%
&
%
=
A= A=
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- Answer Key
Name Area Name Area
Mixed Practice Total Area
Find the total area of each figure. Round your answers to the nearest tenth. Write your
answers in square units.
(1 L1 AN [\ . °
Aslew .h-_b h a-l[leleh A=rr
Use the correct formula to find the area of each figure below. Work with a calculator or on {6 em
scratch paper. Round to the nearest tenth. Write your answers in square units. Bem
A _asm B. C. dem
92m tayd. | .
A-__635cm’ A=
C D.
A=k(5+12)+9.9° A=_%(8.1+14) S5 Ry
o %
A= _T74cm® A=_ 567yd? ; —
D. E. F. B
&, 4.2 mm
D
21 mm axmn
=__30.2mm
A= 3144267 Awx__ 155221 Ao _425¢4.25 &
A=_212m? A=_3255mm® A= 181112
G.
A= _10023¢% A=__ 25475 _3.14+(66)°
115in.2 18.8 mi? _ _136.8cm®
e e L A= A= 81.6 mm?
Page 45 Page 46
Name [ graphing Name Segment midpoi
Graphing in Four Quadrants Finding Midpoints
To graph an ordered pair, start at the origin, (0, 0. RS has endpoints (0,1) and (8,5). M
Maove x units right or left. Quadrant Il Guadrant |
Then move Yy units up or down. 4 Hu:} ) The midpoint of AS is the point that is
) Y ' halfway between the endpoints. 7
s
1 {1
. PO ) To calculate the midpoint of RS:
The * is at point (-1,74). Since both 3 = -
numbers are negative (), itis in T « Find the the average of the x values.
Quadrant Il LU EEEESC 0+8 _8 _4
. . EEEEEE) L 2 T T
To plot this point, you would = The x value of the midpoint is 4. ] :
Start at the origin. a
Move 1 unit togl;'la left. - 1LL] e * Find the average of the y values.
Move 4 units down. ] 1 1;_5 = % =3 /
1" ]E——'*j‘ P The y value of the midpoint is 3. / .
.l
£l
| o * The midpoint of RS is (4,3). 8
IE 37
| F Plot the endpoints of each line segment. Draw the line segment on the graph.
J. t Calculate the midpoint. Plot it on the graph.
?‘_‘}"”““‘ L a“_?d'a“' A Segment | Endpoint | Endpoint Workspace Midpoint
' — 1+3 _ 9+7 _ 28
Draw and label each point at the given iocation. 5L A(LS) | BET 7 -2 5 =8 (2.8)
-3+-5 7+7
A (34) B. (2.5) C. (47) D. (5°6) 2. T can | o =4 5 =7 (-4,7)
5 4 -T 14~
E. (68) F. (57) G. (4,5) H. (10,6) LT e | Fae P Ft= 6 =3 -5 (-6, -5)
- 4 1 4~
1 (7.9) J2:8) K. {10:9) L. (55) 4, GH G (4,1) H (8,9) E 8. 6 ; 9= -5 (6, -5)
M. (9.6 N. (4,9 0. (9 P. (84 — 1+ 9 1
8 i (92 4 5. T 1016) J(9.10) ; =5 ¥= 8 (5, 8)
Draw and label a point in each quadrant. o .
Write the location of each point. 6. KL K (-3,5) L(3:-5) 3; 3 - 0 = ; 5..5 (0, -5)
Quadrant | Quadrant Il Quadrant Il Quadrant IV 7. WN M(1,4) N(1,4) 1 ;1 =1 4 ;‘4 =0 (1,0)
Q Answers vary. R Answers vary. 5 Answers vary. T Answers vary. _ F10 +-10 2 +-10
8. OP 010:2) | PE10,10) [~ =105 —=6 (-10, -6)
Page 47 Page 48
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Name Slope

Using a Ratio to Find Slope

You can describe the slope (steepness) of a line by using the ratio of the rise to the run

- of any two points on the line. y
To find the rise: Count the units up or down between the points. 6
i (In the diagram at the right, the rise is 2 units.) 4 =
To find the run: Count the units right or left between the points. B e
(In the diagram at the right, the run is 6 units.) AEAEAL ‘ X
—r-+HI8B NG s 1 , 2
slope= Fn =T 3 G S
I N~
! el 1 1 =
The slope of line X = 3 3
Write a ratio to describe the slope of each line. 1 hinske ocloowt Q‘""V
’PA"CQ\ (q/ILP:-LC/Q\v
A. B. C.
4
i, ARD s
6 4 0) X 6 4 2 |0 4 X L e 0| 4 X
I'Z 1'21 l'ZI
¥ 29 T
& & K
’ 13 I »
% I e
| 1 |
i v Sl off i
slope = /_5 slope = 7/’7 ’/I slope = /2’5 F /Z.
D E. i v
4 4
. ﬁ |
. 4 . o
21 2 ST s = 2
6 | 42 X T ey o S T4 20 // X
"él 1'2I [‘Zk
3 Iy I
i : REE:
|‘6I 1'6 I'S
I l l
Py 2/ L
slope = /} /' slope = /9 £ )’4 slope = g = //

G. How are slopes that are greater than one different from slopes that are less than one?
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Name Right triangles

The Pythagorean Theorem

In a right triangle, the square of the length of the
hypotenuse (the longest side) is equal to the sum of the
squares of the lengths of the legs (the shorter sides).

In the diagram at the left,a=3,b=4,c =5.

a’+ b*=c¢c?
F+42=5
9+16=25

Use the Pythagorean Theorem to find the unknown measurement for each triangle.

A 52 4122 = 2 B.
..... TR0 nn s 9
PR RN '
5 ¢ b >
4 [
L ' ke c 12
L i
12 ."-\.-': \\_. r
CcC= C=
C. D.
21
c
28 .
c
15
Cc= Cli=
E. F
c
< c 0.4
8 0.3
C= c=
G. 10 H 0
N\ O
24 16 “
c
c= C=
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Name Right triangles

Find the Missing Measure

The Pythagorean Theorem states that the square of the hypotenuse is equal to the sum
of the squares of the legs. Use the formula a?+b?*=c?, where a and b are the legs and c is
the hypotenuse. X2 + 92 = 152
X* + 81 =225
9 ° X2 = 225 — 81
X2 = 144

X X=14144 sox=12

Use the Pythagorean Theorem to find X. You may use a calculator if you wish.

A. B. 12 C. 3
X
12
13 X X
16 5
X = X = X =
D 6 E. F
]
25 ; 10 26
X
10
X X
X = X = X —
G 48 H. | 35

50 / it

X= x: X:
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: Answer Key

Name Right triangles

The Pythagorean Theorem

In a right triangle, the square of the length of the
hypotenuse (the longest side) is equal to the sum of the
squares of the lengths of the legs (the shorter sides).

MName Right triangles

Find the Missing Measure

The Pythagorean Theorem states that the square of the hypotenuse is equal to the sum
of the squares of the legs. Use the formula a*+b*=c?, where a and b are the legs and ¢ is
the hypotenuse. ¥+ F=15
x*+B81=225
9 ] X =225-81

J In the diagram at the left, a=3,b=4,c=5.
a'+b'=¢
| | F+4=5
b 9+ 16=25
Use the Pythagorean Theorem to find the unknown measurement for each triangle.
A 5 € B.
25 *
& e o
e & 3
2 C? e
c= _13 c= 15
C. D.
21
c
. g A )
s
cm 35 e= 17
E. F.
‘B AM
L 03
o= 10 o= 0.5
G. e H. 2
Wa‘ ‘57
c= __26 c- 34
Page 77
Name Right triangles

Use the Pythagorean Theorem

Find the value of X for each diagram. Use the formula a* + b* = ¢*. Show each step. Use a
calculator and round your answers to the nearest hundredth.

A, B. 9 C. 20
]
¥ 10
N /A S
!

X= 5.66 X=_ 38.97 Xx=_ 22.36
D. 2 E. F. 2%
AN
‘ / 3 27
8
X= 4.47 X= 6.71 X= 45
G. 8 H. 6 I
18
2
» 14 " N
x=__16.12 x=__16.97 x=__13.42
Page 79
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x'= 144

X=4144 sox=12

Use the Pythagorean Theorem to find X. You may use a calculator if you wish,

A [~ B. " C. s
12 B v
13 b x e
] S 5
Ve

X= 20 Xu 5 X= 4
D 6 E F. .
"~
yd > 7 o
) 0 T~
X - X
X= 8 X= 24 X= 24
G. 48 H. y
y d
- 5k ok
‘|17 % e I ~
/ A .,
Vs —
X = 14 X= 9 X= 12
Page 78
Name Right triangles
Mixed Practice With Right Triangles
Make a sketch for each A. A right triangle has a hypotenuse of 26,
problem. The length of one leg is 15. What is
Use the formula a2+ b? = ¢* the length of the other leg?
to solve each problem. e b
You may use a calculator.
Round your answers to the r @
nearest hundredth and
circle them.

B. A triangle has a short leg with a length
of 9. The other leg is twice as long.
How long is the hypotenuse?

C. The legs of a right triangle measure
12 and 16. What is the length of the
hypotenuse?

D. The hypotenuse of a right triangle is 17.
One leg measures 15. What is the length
of the other leg?

E. A triangular sail is 82 feet high.
Its width is 29 feet. What is the length
of the sail's hypotenuse?

86.98

m

A 25-foot ladder is leaning against a wall.
It forms the hypotenuse of a right
triangle. The bottom of the ladder is 6
feet from the wall. How far up the wall
will the ladder reach?

G. Both legs of a right triangle measure 3.
What is the length of the hypotenuse?

Page 80
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Name Volume

Volume: Mixed Practice

Find the volume of each figure. You may use a calculator. Round your answers to the
nearest hundredth.

The volume of a prism or cylinder is Base ¢ height.
The volume of a pyramid or cone is % * Base ¢ height.
Remember! Base means the area of the base.

A. B.

4cm
3m
11 cm

8cm

C. 8 ft. D.

5cm

V= V =
E. F
12cm
17.5dm
9em 9cm
1.8 dm
23 dm
V = V =
G. H.
3.6in.
V = V:
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Name Volume

Total Volume

To find the total volume for the figures pictured, find the volume of each solid figure that
makes up the figure. Then add the volumes. You may use a calculator. Record each

formula that you use and the total volume in the space beside the diagram.
A

8 ft.

16 f.

20 ft.

16 .

V =
B.
9cm
V =
C' 2 ft.
P ,
N
6 ft.
1eft.
— 9t.
en.LJ
V =
D.
8 dm
5dm
8 dm
5dm
8 dm
\
\\\ 5dm
12 dm V -
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Answer Key
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